(A) Bacon

(B) Dryden

(C) Milton

(D) Defoe

Correct Option is: A

20. Shakespeare wrote?

(A) Comedies of humours

(B) Romantic comedies

(C) Comedies of manners

(D) Sentimental comedies

Correct Option is: B

21. Othello killed Desdemona out of? es‘a_\e ’
(A) Ignorance m NO 6

(B) Hatred . e "(O " l

(©) A@(re\'\
(D) Love

Correct Option is: A
22, A written literature began to evolve in Britain with the coming of the?
(A) Danes

(B) Romans

(C) Christian Churches

(D) None of the above

Correct Option is: C

23. Who founded first English Public School?

(A) William Duke
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(A) Productive skills
(B) Receptive skills
(C)BothA&B

(D) None of the above
Correct Option is: C

45. Production of speech is controlled mainly by forward proportions of the
brain in an area traditionally known as?

(A) Wernicke’s area

(B) Broca's area

(C) Both of the above

(D) None of the above O ‘u\k

Correct Option is: B \e C
46. Simulation of language by the Lﬁ@% uter%s said to be?

(A) Computational |i uﬁ(@ O"
(B) éwsp age 3'2
(©) ;glstlcs

(D) Applied linguistics
Correct Option is: A

47. Relation which exists between words which have the same form but
unrelated senses is known to be?

(A) Homonymy

(B) Hyponymy

(C) Polysemy

(D) None of the above

Correct Option is: A
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